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1 KAWL | KAZET KAWL (XiE)
2 | KA | KACET 5 (BiEMR) 98 3,100
3 | KAl |X4zET AW (BEOE) 150] 3,700 160, 3,300
4 | KR | KACEr KAWL GRr &) 390 2,430
5 | Rl |X4zET KM () 145 3,160 200 2,800 140 4,200 627 5,400 190 3,000
6 | KA | KECHET KA (8 190] 4,900 180 9, 800
7 Bl | KHCET 2 80 150
8 | =4 EHNl | KichT Laf 124 1,400 190, 1, 400
9 EFN | K4ET PN 160 2,000
10 | sMgEN (RS /IMRETAET 500 2,400 500! 1,900 425 2,530 100, 2,000
1| B+H& |(BETH AT 193 2,000 186 1, 500 83 2,830 1,000 225 5,600 80 900 230 2,400 150 250 2,200
12 RN |RSH SAREET 563 1, 800 109 220! 100 500 190, 1, 800 430 200 1, 300
13 TN | EHT 100 100,
14 B/ |FEW EEdLa) 480 350 865 720] 520 8 3,120
15 Bl |BESH SRATET
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17 KN |REBH izl
18 ww | RSE TR ERET 200 1,000 10 2,500 10 640 535! 1,970 100 400 100, 1, 000! 100 100
19 W |FESH Z RET 102 290
20 e (g /IMRHT TTET 350 1, 200 395 1,100 200 100 845 4,700
21 SR |ERSSET (& 323 2,333 265 2,900
22 RN |EFRSET (R 625 635
2 RN |ERSET RS 200 1, 500 200 2,000
24 M |EEEEr R 577 5,400 131 1, 900! 205 1,800
25 | Aol |EFSET Ry AUE 650 2,500 100, 125
26 | FRE) |FRSET Wik 261 1,240
27 | BRI |EFSET | NE
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29 | REER) |FRSET |FRSER
30 Bl (ERET KEA 100] 200 230 2,700
31 | —ZH |ERET B 350 4,500
32 I |RETW AT 100] 100] 500 3,500
33 | A+ |BESH AT 100] 3,900 147 4,970 170, 2,100
34 | KAWL | KEHET K (59) 330 18, 800]
35 W (FRSET (N 400 1,067
36 HEN |FEH IMRETETAT 642! 1,100 300 500 312 280
37 | KRNI [ K#ZET AR UNEH) 200 1,700
38 | KAWL | K#HET KAWL (F8E) 150 2,150 100] 3,300 520 22,500 250 11, 000 250 9,000
39 | KR [ K#ZET KAW (BT R 460 22,800
40 INENL | ERBET |INAE 200 100 500

XANDOERLIHOKREL. EREOHBICLYBTRICELTHILA L. U—EROEBRMEROVTIE. EELLDBELHYET




AR EEER—-RR

TR 2 45EE (F6D

TR 2 5EE (FHD

TR 2 6 FFE (FD

FRL2 7EE (D

TR 2 8 (FD)

TR 2 9FE (FD

T3 OFE (D

SHTEE (R

SH2FE ()

SHMIEE (EH)

SHM4EE ()

SHEEE (RH)

SHeFEE (PE)

R BEE HRTBEE HRTBEE HRTBEE HRTBEE HRTBEE R BE HETBE HRTBEE HETBE R BEE HETRE R BE
[EEES]
- ol = = = = = = = = = = = 2 = 2
g ,‘g ar s %h(ﬁmi%E Wf:;:); &iﬁ#ﬁ %h(ﬁm}%E Wf:;:); &iﬁ#ﬁ %h(ﬁm}%E ﬁﬁ(ﬁr&nﬂs’_)g &?ﬂ%ﬁ %h(ﬁm}%E ﬁﬁ(ﬁr&nﬂs’_)g &?ﬂ%ﬁ %h(ﬁm}%E Wf:;:); &iﬁ#ﬁ %h(ﬁm}%E Wf:;:); &fg#ﬁ %?Em}%iﬁ ﬁﬁ(ﬁr&nﬂs’_)g ﬂZﬁEE %F(Em})lﬁ iﬁk(ﬁm:’i;.E fﬁfiﬁﬁ %h&?)&E ﬁf{?’ﬁ):i 1f(‘§m§1§ %F(Em})lﬁ iﬁk(ﬁm:’i;.E fﬁfiﬁﬁ %F(Em})lﬁ ﬁf{?’ﬁ):i fﬁfiﬁﬁ %F(Em})lﬁ iﬁk(ﬁm:’i;.E 1f(‘§m§1§ %F(Em})lﬁ iﬁk(ﬁm:’i;.E 1f(‘§m§1§
=
41 | SMEEN |[FRETH MRETARE 350 3,000 300! 2,200 440 1,520 235 2,030] 210] 1,700 385 1,900
2 | —ZHBN (ERET e 350 4,500
43 =) ERET BR 500! T, 225
44 |EE/INER)I | KACHET SEE/NER 120 500! 100! 500
45 FRII |FERSE |FEE 200! 1,900
46 | FhL |EERSET | WETH 350, 2,400
47 KTN |FFREAET | KT 50 180!
48 | R |FMFSE |FHER 200, 13, 700!
49 RN |FGSET R 600! 6, 100]
50 INENL | ERBET |INAEE 200! 1,000 100 500
51 | KR [ K#ZET KAW (RE%F)
52 | KA | K#HT Laf 380! 11, 500 259 12,500 340 7,700
53 s |FRSET | S 50 100!
54 | s/ /) |\EFSET | RE 100) 500
55 B | KACET K&
56 | M7 BN | KECET P 50 500
57 AR |ERSET AR 20 150)
58 Bl |RSH FIEEET 20, 625
59 S (RS Sl
60 | tAFI  (EE{RSET |taw
61 | ZEmIl | K4ZET 2
62 WEEN | KCE ER
63 = R £ /\BT 13, 839,

XANDOERLIHOKREL. EREOHBICLYBTRICELTHILA L. U—EROEBRMEROVTIE. EELLDBELHYET




